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Answer 2ll qﬁestiqns.

This paper consists of two parts, Part A&B.

Part A - Q 1 contains 20 multiple choice questions. Tick the correct answers for these -
questions on the answer sheet provided below.

Part B has one question, Q 2. Answers for this question should be written on the space -

provided.
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Part B

Q.2. This question is based on reproduction of sea urchin, which is an echinodermate animal
living in marine habitats.
(i) (=) Where do the eggs of sea urchin fertilize?

...................................................................

........................................................................................................

(c) Give the term that describe the amount of yolk in them. .............. ey

(d) Give the term that describe the yolk distribution in them ........ e e ——

(i)  The sperms of sea urchin get attracted to eggs by chemotaxis.

(a) Name the chemical aftractant involved in attracting sperms towards ova..

.......................................................................................................

......................................................................................................
......................................................................................................
.......................................................................................................

-------------------------------------------------------------------------------------------------------

(111) Aﬁer sperms get attracted towards eggs, they attached on to the surface of the egg.
" Then, the acrosomal reaction that occurs in sperm helps it to penetrate the egg
membrane. '

(a) Explain how the acrosomal reaction is triggered.

......................................................................................................
......................................................................................................
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(c) How is the acrosomal filament formed?

.......................................................................................................
.......................................................................................................

------------------------------------------------------------------------------------------------------

(d) Figure 1 ShOWS how the acrosomal ﬁlament attaches on to the Surface of the sea

urchin egg. Label P, Q,Rand S. .

...............................

...............................

Plasma miembrane of egg

Figure 1

.......................................................................................................
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(iv) The digestion of the S membrane shown in the Figure 1 leads to the direct contact of
sperm head with the plasma membrane of egg and fusion of their plasma membranes.

This activates the egg to embark on its developmental process.

(a) Mention three important events that oceur due to activation of egg.

(b) Of the three activities mentioned in (iv) (a) part, which is the one that causes chan.ges
in plasma membrane or vitelline membrane of egg?
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(c) What is the importance of the process mentioned in (iv) (b)?
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(f) Mention three changes that occurs in vitelline membrane due to the process

mentioned in (iv) (b).
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Figure 2

(a) According to the Figure 2 (c), what is the cell movement process involved in
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(b) The mesoderm of the gastrula move into the cavity after separating individual cells

from the surface layer. What is the name given for this cell movement process?
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